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ANSWERS: Week 3

English (Grade 7)

Exercise 1: Passage (Galileo and his telescope)
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10.

1564

Pisa

Math

A doctor

He neededto earn money.
Measure plots of land

A telescope
Tentimesbiggerthanreal life
(i) The moon was not smooth.

(ii) The moon was covered in bumps and craters
Any appropriate answer.
Galileo, the mathematican

Life of Galileo.

Exercise 2:
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Light

Sad

Early

Dirty

To lose weight
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Exercise 3:
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Indecisive
Disconnected
Unethical
Immoderate
Disbelieves
Illegible
Debriefing
Irretrievable
Uninjured

10. unruffled

Strong

High

To fail an exam
To Lie down

10. To unfold



